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> (1+2)*(3-4)*5°2

ans = -75

> exp(10)*Llog(5)*sin(0.5*pi)
ans = 3.5450e+04

> exit

exit Octave 0000000000000
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> A=[1 2;3 4]
A =
1 2
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> b=[3;4]
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> Axb

ans =
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> C=A%*Db;
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> C
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> C’
ans =
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> A(2,1)

ans = 3
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> A(2,1)=5
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> A(:,1)
ans =
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> A.xD
ans =
3 12
75 48

> A./D

ans =
0.33333 0.33333
0.33333 0.33333

obooobOobooooobooboooooboooon

> e=10:5:30
e=
10 15 20 25 30

200000000000000O0 10000

4 0O0Oooo0

Octave 00 O0OO0OOOO0OODODODOOCOOOOOOO
gbooobooon

> cos(2/3*pi)
ans = -0.50000
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> sin(f)
ans =

0.84147 0.90930 0.14112 -0.75680

0000000 sin, cos, tan, acos, atan, tanh, exp, log,
sqrt 0000000000000 helpOOOOGQOOAd

> help exp
OO000D help-iD info000O0O0O0ODODOOO
> help -i exp

000000000000000000 00 max, min,
sum, prod 000000000000

> max([1 3 5 2 4])
ans = 5

O000mvOOOOO0OO0
> A=[1 2;3 4]; inv(A)

ans =
-2.00000 1.00000
1.50000 -0.50000
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> [eigvec eigvall=eig(A)
eigvec =

-0.82456 -0.41597

0.56577 -0.90938

eigval =
-0.37228  0.00000
0.00000  5.37228

O00D0000000000000 mean, std, var OO
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> var([1 2 3 4])
ans = 1.6667

000 10000000000 randd0000 000 10
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> randn(1,4)
ans =

0.22797 -1.63055 0.38559 -1.66595
gbO00dsort 0000000

>[sorted index]=sort([7 3 6 1 2])
sorted =

1 2 3 6 7
index =

4 5 2 3 1
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> x=[-2:0.1:2]; y=sin(x); plot(x,y)
0000000 hstOOoooooo
> a=randn(1000,1); hist(a)

30000000 surf, mesh OO O OO0 contour 00O
oood

> x=[-3:0.1:3]; y=stdnormal_pdf(x); surf(y’*y);

OO00D0000 print OO0O0O00O0O0O00DD LaTeX
Ub0o0o0O0bO00b0epsOOO0O0OO0O0O0OOO

> print -deps graph.eps
jpeg000O000ODOOOOO
> print -djpg graph.jpt
goooooo
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A=[1 2; 3 4];
b=[5;6];
C=A%xb;

OO0O0OOctave DOODOOODOOOO
> test
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n=100;
a=0;
for i=1:n
a=a+ti;
end
Octave 0000000000 DOOOODOODOOOO
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gdigoloboooooooooooooooooon
oo0000 n=100000000000000000000O

a=sum(1:1000000) ;
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x=-10:0.1:10;
for xx=1:length(x)
if x(xx)>0
y (xx)=x(xx) ;
else
y (xx)=-x(xx) ;
end
end
plot(x,y)
00000000oooooooooooooooogn
x=-10:0.1:10;
y=zeros(size(x));
y(x>0)=x(x>0);
y (x<=0)=-x(x<=0) ;
plot(x,y)
0000 whileOO switchOO O OO
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function z=g2_pdf(x,y,Mu,Sigma)

d=sqrt(det(Sigma));
v=[x;y]-Mu;
z=1/(2*pi*d)*exp(-1/2*v’*inv(Sigma) *v) ;
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clear all

Mu=[0;0];

Sigma=[2 1;1 2];

x=[-3:0.1:3];

y=[-3:0.1:3];

for xx=1:length(x)
for yy=1:length(y)

z(xx,yy)=g2_pdf (x(xx) ,y(yy) ,Mu,Sigma) ;

end

end

figure(1);

clf

surf(x,y,z);

view(45,60)

print -deps gauss2d_pdf_surf.eps

figure(2);

clf

contour(x,y,z);

print -deps gauss2d_pdf_contour.eps



